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- BESKAEM RET

BEEATILHT 2R - R ¥-BEHA H=1.2m m 854 | A\BEWI=20mEimEEL, Fii (15° KiH)
BEEATILHRT 1ZAEAR - R ¥ -BEHA H=1.8m m 1,220 |ABEMHI=20mKimEEL, FiBi (16° ki)
BECEARGILRT R4 - JBELHE T IRA H=1.8m m 1,620 |ABEMHI=20mKimEEL, FiBi (16° ki)
BEEATILHRT {EEEAR - B - HEE FEE ME-EA H=1.2m m 726 | ABEMI=20mKimEEL, FiBi (15° KiH)
BEEATILHRT {EEEAR - B - HEE FEE ¥E-FEA H=1.8m m 1,080 | AFEEML=20mEKFEEL, 1A (15° KiH)
BEEATILHRT {EEEAR - B - HEE #E A H=1.8m m 1,810 |ABEMHI=20mKimEEL, FiBi (16° ki)
BEEATILHRT EEEAR - fiE: - HEE BEE ¥-BEA H=1.2m m 726 | ABEMI=20mKimEEL, FiBi (15° K
BECEARGILHRT  BEERED - fEE - HEE BEE ¥-FEA H=1.8m m 1,080 |ABEMHI=20mKimEEL, FiBi (16° ki)
BEEATILHRT {EEEAR - fiE: - HEE EE A H=1.8m m 1,810 |ABEMHI=20mKimEEL, FiBi (16° ki)
BECEARILMT EHHAPRE ¥ -BHA H=1.2m B=1.0m = 3.180 [ AEEWI=20mKFHEEL, Filih (15° KiF)
BECEARILMT fEHHMRE ¥ -BHA H=1.2m B=1.5m = 3.180 [AEEWI=20mKFHEEL, il (15° KiF)
BECEARILMT fEHAPIRE ¥ -BHA H=1.2m B=2. Om = 3.880 | AEEWI=20mKFHEEL, Filih (15° Kik)
BECEAGILMT fEHHPRE ¥ -BHA H=1.2m B=2 5m = 4,230 | NBEERI=20mKFEEL, Filh (15° KiF)
BECEARILMT EHHAPRE ¥ -BHA H=1.2m B=3.Om = 4,400 | \BEEWI=20mKFEEL, Filh (15° KiF)
BECEARILMT EHHAPRE ¥ -BHA H=1.2m B=3. 5m = 4,760 | \BEEWI=20mKFEEL, Filh (15° KiF)
BECEARILMT EHHAPRE ¥ -BHA H=1.2m B=4.0m = 5100 [ABEEI=20mKFEEL, Filih (15° KiF)
BECEARILMT EHHAPRE ¥ -BH H=1.2m B=4.5m -3 - | ABEMHI=20mKHmEEL, FiBi (15° KiH)
BECEARILMT EHHAPRE ¥ - A H=1.2m B=5.0m -3 - | ABEMHI=20mKHmEEL, FiBi (15° KiH)
BECEARILMT fEHHMRE ¥ - A H=1.8m B=1.0m = 3.880 | AEEWI=20mKFHEEL, Filih (15° KiF)
BECEARILMT fEHHMRE ¥ -BH H=1.8m B=1.5m = 3.900 |[AEEWI=20mKFHEEL, il (15° KiF)
BECEARILMT fEHHMRE ¥ - A H=1.8m B=2. Om = 5120 [ A\BEEI=20mKFEEL, Filih (15° KiF)
BECEAGILMT fEHHPRE ¥ - BH H=1.8m B=2 5m = 5470 | \BEEWI=20mKFEEL, Filih (15° KiF)
BECEAGILMT fEHHPRE ¥ -BH H=1.8m B=3. Om = 5810 [ A\BEEWI=20mKFHEEL, Filih (15° KiF)
BECEARILMT EHHAPRE ¥ - BH H=1.8m B=3. 5m = 6,340 |ABEWI =20mKimEEL, T (15° K
BECEARILMT EHHAPRE ¥ -BH H=1.8m B=4.0m = 7,030 |ABEWI =20mKimEEL, FiBi (15° KiH)
BECEARILMT EHHAPRE ¥ - BH H=1.8m B=4.5m -3 - | ABEMRI=20mKiHmEEL, FiBH (15° KiH)
BECEARILMT EHHAPRE ¥ - BH H=1.8m B=b.0m -3 - | ABEMHI=20mKHmEEL, FiBi (15° KiH)
BECEARILMT EHHAPRE =F H=1.8m B=1.0m -3 10,600 |ABEMHI=20mKiHmEEL, FiBi (16° ki)
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BECEARILMT fEHHMRE =F H=1.8m B=1.5m = 10,900 |ABEW =20mKimEEL, FiBi (15° Kih)
BECEARILMT fEHAPIRE =F H=1.8m B=2.0m = 20.500 | AEEI=20mKFEEL, Filih (15° Kik)
BECEAGILMT fEHHPRE J=F H=1.8m B=2.5m = 21,700 | AEEI=20mKFEEL, Filih (15° Kik)
BECEAGILMT fEHHPRE =F H=1.8m B=3.0m = 23.100 | AEEI=20mKFEEL, Filih (15° Kik)
BECEARILMT EHHAPRE J=F H=1.8m B=3.5m = 24,800 | \EEWI=20mKFEEL, Filih (15° Kik)
BECEARILMT EHHAPRE J=F H=1.8m B=4.0m = 26,700 | \EEI=20mKFEEL, Filih (15° Kik)
BECEARILMT EHHAPRE J=F H=1.8m B=4.5m -3 - | ABEMRI=20mKHmEEL, FiBi (15° KiH)
BECEARILMT fEHHMRE J=F H=1.8m B=5.0m -3 - | ABEHI=20mKHmEEL, FiBH (15° K
BEEATILHMT #2X4H ¥-EA H=1.2m b7 1,470 |ABEMHI=20mKimEEL, FiBi (16° KiH)
BEEATILHMT #2X4H ¥ -FEA H=1.8m b7 7,580 |ABEWI=20mkimEEL, T (15° KiH)
BEREATILHMT #2X4H =F H=1.8m &Rt 7,580 |ABEWI=20mKimEEL, T (15° K
BEEAILHT Tk =A E-S - | ABEHI=20mKHmEEL, FiB# (15° KiH)
SEEARGILMT sRIEPIEEE ¥ -BHA H=1.2m B=4.5m = 65.500 | AEEWI=20mKFEEL, Filih (15° Kik)
BEEARGILMT sRIEPIEEE ¥ -BH H=1.2m B=5.0m = 75.900 |[AEEI=20mKFEEL, Filih (15° Kik)
BEEARGILMT sRIEPIEEE ¥ - BH H=1.8m B=4.5m = 98,300 |AEEMI=20mKFHEEL, Filih (15° Kik)
BEEARGILMT sRIEPIEEE ¥ - BH H=1.8m B=b.0m = 101,000 |ABEWI =20mKimEEL, FiBi (15° K
BEEARGILMT sRIEPIEEE J=F H=1.8m B=4.5m -3 101,000 |AEEWI=20mKimEEL, FiBi (15° K
BEEAIEHMT RIEMEE J=F H=1.8m B=5.0m -3 105,000 |AEEWI=20mKimEEL, FiBi (15° Kih)




